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ToOPIC 08: TRADE

L. A trading game

a.

b.

Trade increases aggregate utility.
The Fundamental Theorem of Exchange—voluntary trade with
complete information is always mutually beneficial.

1. Note this is not the same thing as equally beneficial.

ii. Trade also encourages peace and understanding.
Mistakes surely happen but either the harm is small (a movie wasn’t
all that good) or people make special effort to ensure they don’t make
a mistake (research a new car, inspect a house, consult a critic).

II.  Absolute Advantage

a.

b.

d.

The nature of wealth

1. Jobs, gold, and money are not true wealth (though they are

sometimes useful proxies).

ii. The key measurement is happiness.
Under free trade, the full benefits of specialization can be realized. In
much the same way people divvy up their budgets to buy certain
bundles of goods, agents use resources to produce certain bundles of
products.
In some countries (or firms or factories), one product is cheaper to
create than others. For example, consider five countries and their
production possibilities for wine and chocolate.

Country Maximum Wine Maximum Chocolate
(barrels) (pounds)
France 80 20
Germany 120 240
Switzerland 10 100

Each of these numbers represents what a country could produce if it
dedicated all of its resources to one particular product.

e. Absolute advantage—being able to produce more—is generally how

people determine if someone should do something. Notice that
Germany can produce more of either good: it has the absolute
advantage in both. Does that mean it should do everything? Not
necessarily. To understand why, we turn to comparative advantage.
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IV. Th

a.

b.

C.

mparative Advantage

Comparative advantage is based on the ever-present existence of
opportunity costs. If a nation spends all its resources making wine, no
one will have any chocolate. What will everyone eat?!?!

The question then becomes: which nation sacrifices less? The nation
with the lowest opportunity cost has a comparative advantage in
producing that particular good.

To find the comparative advantage, divide:

Opportunity cost of Product A
Product A

1. Appreciate the math here. For every unit the country produces
of A, it gives up such and such amount. By putting it in terms
of each unit of Product A, the equation considers both how
much the country can produce and what the country could have
produced if it didn’t make Product A.

And so we find:

Product A Country Math 1 unit costs...

Wine France 20/80 0.25 pounds of chocolate
Germany 240/120 2.00 pounds of chocolate
Switzerland 100/10 10.00 pounds of chocolate

Chocolate | France 80/20 4.00 barrels of wine
Germany 120/240 0.50 barrels of wine
Switzerland 10/100 0.10 barrels of wine

Because France’s opportunity cost for making wine is lower (they
sacrifice 0.25 pounds of chocolate, which is the cheapest wine that
can be made among the five), France should specialize in wine.
Who has the comparative advantage in chocolate?
e trade deficit
Exports — Imports = NX (or the balance of trade).
The “deficit” is when imports > exports, or when NX is negative.
People are very concerned that the US’s NX is negative, seeing it as a
sign of a weak economy. There are several things wrong with this
view.

1. Trade deficits occur within countries.



ii. People are buying things they want—utility is increasing.

iii. The trade deficit is only part of the equation. This last point
warrants further exploration.

V.  Balance of Payments (BoP)
a. All trade activity is captured in this equation: NX + CA = 0.

1. Where CA is the capital account, or the net flow of investment.
Note that sometimes NX is called the current account, as in the
flow of goods that currently exist, while the capital account
speaks to the money used to create capital, the investment.

ii. Note your book splits CA into a narrower version of capital
account (debt forgiveness) and financial account (sale of
financial assets).

b. But does it balance in practice? It does indeed! Note how one account
is almost the perfect mirror of the other and the BoP always hovers
around zero. (Source: BEA, International Economic Accounts).

Balance of Payments Balance of Payments (% of GDP)

Sources: BEA, Federal Reserve Sources: BEA, Federal Reserve

c. In a trade, the domestic country gave up their currency for goods and
services. Abroad, this currency can have three different uses:
1. Import from the domestic country (NX increases).
ii. Invest in the domestic country (CA increases).
iii.  Circulating it outside the domestic country.

d. The only reason people would accept currency that’s worthless in
their country is because they think they can use in the country it is
worth something.

1. Circulating it outside the domestic country is rare.

e. The trade deficit is not, repeat not, debt. It is merely an arbitrary
distinction between the flow of goods and the flow of investment.

f. This harkens back to the distinction between increasing GDP and
increasing wealth. A fall in NX reduces GDP but it doesn’t necessary
mean people are poorer.



